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Math’s

Q. 1fillin the blanks (5)

a) 9X5=

b) 23X10=___ X23

C) Multiplication is addition

d) 2200+100 =

e)  x5=50
Q. 2 solve the following by lattice method.(5)

a.17 x11 b) 15 x20



Q.3) 500 kg of toor dal is packed in 10 packets, each having equal quantity. What is the amount of
dal each packet has? (2.5)

Q.4) Anshu can pack 345 toys in one day. How many toys can she pack in 20 days? (2.5)

Q.5.) Draw a triangle and rectangle. Write their number of sides. (2.5X2=5)

EVS

Q. 1 Write True and false. (4)

a) Resident Welfare Association is not a part of a community.



b) A park is a space where people play, read and relax.

c) A house must be kept free of dust.

d) Gestures do not vary from one region to another.

Q.2 Draw a diagram of medium of mass communication. (4)

Q.3 Name the most popular medium of mass communication. Write it’s features. (4)
Q. 4 what are different types of transport? Give one example of each. (4)

Q.5 Describe the different kinds of household chores. Why should members of household share
household chores? (4)

ENGLISH

Q. 1 Word Meanings- (4)

a) Lonely

b) Misbehaves

c) Bother

d) Upset
Q.2 Do as directed —(2)
a) Helivesina cottage. (Adj. of quality)
b) Assolid as .
c) Ican’ttalk to you. Please . (hang out/hang up)
d) Don’ttouch,itis favourite pen. (his/ she)

Q. 3 Change the gender — (4)

a) God-
b) Actor
c) Bull-
d) Host

Q. 4 Add prefixes to make new words — (4)

a) Agree-
b) Tidy-

c) Appear-
d) Able-

Q.5 Answer the following questions — (1.5 X 3=6)

a) Why did the farmer decide to let the donkey die in the well?
b) Why do you think animals were so happy in the end ?
¢) Why was Chulbul unhappy with her tail?



d) Why did the farmer invite his all neighbours?



